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QUESTION 1

Click the Exhibit tab. 

Which two actions would you perform to address the system alternate-control-path (ACP) connectivity issue shown in
the exhibit? (Choose two.) 

A. Reseat the ACP cable. 

B. Reseat the shelf modules. 
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C. Turn optionsacp.enableoff and then on. 

D. Perform a takeover and giveback. 

Correct Answer: CD 

 

QUESTION 2

An administrator on a clustered Data ONTAP 8.3.1 system created a FlexClone of a volume containing a LUN, but the
new LUN is offline and cannot be seen by the client. In this scenario, which two actions will solve the problem? (Choose
two.) 

A. The LUN must be mapped to an initiator group. 

B. The new volume must be split from the parent volume before the LUN can be used. 

C. The LUN must be renamed to be different from the parent LUN. 

D. The LUN needs to be brought online. 

Correct Answer: AD 

 

QUESTION 3

A new storage efficiency job is executed on a volume hosting only a thick-provisioned LUN. Although 45% of the space
was saved, no extra space was seen by the client. 

In this scenario, which statement is correct? 

A. The client sees only the logical space for the LUN. 

B. Thereare volume Snapshot copies that were taken before the efficiency job. 

C. The client needs to re-scan the volume to detect the changes. 

D. The volume is thin provisioned. 

Correct Answer: C 

 

QUESTION 4

Which statement is true about a switchless cluster? 

A. A switchless cluster can only be used for a system with two controllers in one chassis configuration. 

B. A switchless cluster can support up to one node per cluster port. 

C. In a switchless cluster, thenetwork options switchless-cluster -enabledparameter must be set to true. 

D. Converting a switchless cluster to a switched cluster is disruptive. 
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Correct Answer: C 

 

QUESTION 5

A customer created a new storage virtual machine (SVM) named "svm-nfs". They enabled only NFSv3 and created a
new export policy called "Linux". In this policy, they created a rule replacing the default rule that shows the host specifier
to be IP address 172.16.100.0/24. This configuration has worked well for the past two weeks for all Linux clients. A new
Linux client is about to be put into production but it is not enable the "access denied" error. 

Which statement is correct in this scenario? 

A. There is no export policy entry for the namespace for this export. 

B. The time on the controller is skewed by more than five minutes. 

C. The new client\\'s IP address is not in the same subnet that is specified in the export policy rule. 

D. The volume is NTFS security style. 

Correct Answer: C 
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